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Find the exact length of the curve analytically by antidifferentiation. g« d-d 3
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Solve the proble

22) Suppos — ows the velocity of a car every second for 8 22) .
' pproximate the distance traveled by the car in the 8
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Solve the problem.
22) Suppose that the accompanying table shows the velocity of a car every second for 8
seconds. Use the Trapezoidal Rule to approximate the distance traveled by the car in the 8
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23) A particle moves with velocity v(t) = 2t + 3 find the distance travele » 1
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Evaluate the integral.

6
o4y [ift— Al dt

24\



LTJ'

=Ty W (et RO O W A B P B ¢ R 6 3 v &

3) f\ patticlt moves with velocity v(t) = 2t + 3 find the distance traveled between t =0 and t=

Evaluate the integral. oS

24) |' \ft- t) dt

Verify that If(u) du I f(u) dx.

25) f(u) = ‘\/G and u= x4 (x>0)
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Evaluate the integral.

24) [wle- NERT (,Zf

Verify that If(u) du = If(u} dx.
25) f(u) :\/E and u= x4 (x> 0).
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